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Carefully read the instructions given on Question Paper, OMR Sheet
and Answer Sheet.
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Question Paper is in Hindi and English language. Candidate can
choose to answer in any one of the language (i.e., either Hindi or
English)

TH HTLol/TI F QT AN &1 WA T & =T T 3 N &0 H 979 17 )

There are TWO PARTS in this Module/Paper. PART ONE contains
FOUR questions and PART TWO contains FIVE questions.

T Tk “Fh{oTsh” T &1 § S F1 3 40 § T97 qW Q, “SAras”
THIT B 301 8% F 3 60 B

PART ONE is Objective type and carries 40 Marks. PART TWO is
subjective type and carries 60 Marks.
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PART ONE is to be answered in the OMR ANSWER SHEET only,
supplied with the question paper, as per the instructions contained
therein. PART ONE is NOT to be answered in the answer book for
PART TWO.
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Maximum time allotted for PART ONE is ONE HOUR. Answer book
for PART TWO will be supplied at the table when the answer sheet
for PART ONE is returned. However, candidates who complete
PART ONE earlier than one hour, can collect the answer book for
PART TWO immediately after handing over the answer sheet for
PART ONE.
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Candidate cannot leave the examination hall/room without
signing on the attendance sheet or handing over his Answer
sheet to the invigilator. Failing in doing so, will amount to
disqualification of Candidate in this Module/Paper.
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After receiving the instruction to open the booklet and before
answering the questions, the candidate should ensure that the
Question booklet is complete in all respect.
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Note: In case of any discrepancy found in Hindi language, English version will be treated as final.
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DO NOT OPEN THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.




PART ONE / Hkkx ,d

(Answer all the questions) / YalHkh iz’uksa

1.1

ds mUkj nsa's

izR;sd iz’u ds mUkjksa ds dbZ
fodYi uhps fn, x, gSaA ,d Icls
mi;qDr fodYi pqusa vkSj mis
fuEufyf[kr funsZ’kksa ds vuqlkj
iz’u i= ds IkFk_ miyC/k djk, X,
AAvks,evkj** mUKj i=d esa ntZ
djsaA

Each question below gives a multiple
choice of answers. Choose the most
appropriate one and enter in the “OMR”

answer sheet supplied with the question
paper, following instructions therein. (1x10)

S g FET Tge At AT e e St 8, v

9T o1 T SFeATeRE wreT i _w=T
STTAT B, Tisrae 36T Srar

A) FEATSA US T ATST

B) T AT

C)  TEETHAT

D) frarfe arev
When a computer is first turned on or
restarted, a special type of absolute loader
called ___ is executed

A) Compile and Go loader

B) Boot loader

C) Bootstrap loader

D) Relating loader

1.2 TH FT S w4 % o o o § & 39w e
FATG ?

A) Fdisk

B) Scandisk

C) CHKDSK

D) Fixdisk
Which among the following are the best tools
for fixing the errors?

A) Fdisk

B) Scandisk

C) CHKDSK

D) Fixdisk

1.3 &9 |l FHIS UH e3Ad FHIE Tal 57

A) Dir

B) Edit

C) CD

D) CLS
Which command is not an internal command?

A) Dir

B) Edit

C) CD

D) CLS
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1.8

e |1 FHTe DOS # A= w2 grdi?
Sum

CLS

CD

Dir

Which command does not exist in DOS?
Sum

CLS

CD

Dir

Rl a9 F oo
MKD

MKDIR

CD

ITUE § 7 g4dT

To make directory
MKD

MKDIR

CD

All of the above

e TEIEHAT AT

foreew et 1 RAM § &1 a1 §
FET FAFIT 1 AT FLAT
FLET THIL HT FAT FAT &

FET F JATT FAT &

Boot startup process

Loads system files to RAM
Checks the computer connections
Clean up the computer memory
Prepare the computer ready

/1T U TR g S F foro s T Srar

g
FOAET HHTEY FT O F2A
o TFE 7 a9
HTZ FIEE FEA
IULIE | 7 74T

A zip is a program used to
Speed up the computer memory
Speed up the disk access
Compress files

All of above

oo fftes off 2 &l
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A) [ESEECA

B) e

C) e

D) Rfwra R
Bridges are also repeaters and

A) Regenerator

B) Preprocessor

C) Reposted

D) Redesigned

1.9 AT T Jea+ |

A) T qiEE AT AaeTFHAT TE §

B) TFH T(ZC qq9T AT(RT

C) e T ATHAT TRl ©

D) IYLE | H FE Aol
In wireless ad-hoc network

A) access point is not required

B) access point is must

C) nodes are not required

D) none of the mentioned

110  Feas &fhw 1 fhee e % forw wonT B s
TAT ITh LT

A) e

B) HLATA

C) o werta

D) IEEIERS
A device used for filtering network traffic.

A) Preprocessor

B) Firewall

C) Flip Flop

D) Decoder

2- uhps fn, X, izR;sd fooj.k ;k rks
IR; ;k VIR; gSA ,d Icls mi;gDr
fodYi pqusa vkSj mls
fuEufyf[kr funsZ’kksa ds vuqlkj
iz’u i= ds IkFk miyC/k djk, x,
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21

22

2.3

24
25

2.6

2.7

2.8

29

2.10

21
22
2.3
24
2.5
2.6
27

2.8

29

2.10

AAyks,evkj** mUKj i=d esa ntZ
djsaA (1x10)

FEII ST2d § T[T T S ATAT FLAAT T ATAT AT
1 TET F THAT &,

LAN &7 39917 U fafess & @ Fegesi v sirew
F form o St 2.

THS AT TR HIEA H FEH LA K o0
T FHEIL AT ST AT ST 2.

faaforT fees F8iem &7 IaTeew 2.

fere 2 wrear & REEwataT § = 9| aEr
ST HHAT 2.

ITed FA9C gIEd &l FAT-64 ®rzer freew &
FEoIdT 2.

TR FHY et et @ fAumeeq #r
THETSA ¥ U & o7 e FeaT &.

IRQ F=AT #it TTETET O F2 & o ITHIr AT
FYET AT HHE F | FFY(ohe FA § 7ag Heal
2.

fos fefSrrer ua o7 o @rge, T 9O W
T HHAT 2.

ZISI I & T g ATl araed TTH 8
IEEEIRZGERCIES IS

Each statement below is either TRUE or
FALSE. Choose the most appropriate one
and enter your choice in the “OMR” answer

sheet supplied with the question paper,
following instructions therein. (1x10)

Compression may be able to double the
amount of information the drive can store.

LAN is used to connect computers placed
within a building.

Lossless compression is used to compressing
image and graphics file.

Winzip is the example of disk compression.
Deleted files can be restored from recycle bin.
Drive converter converts drive into FAT-64 file
system.

Registry checker scans the contents of your
Registry for problems and errors.

An IRQ helps a device to communicate directly
with computer's memory to speed up the
processing of information.

Bridge can operate on both layers, physical
and data link layer.

Trojan Horse is self propagating virus program
which has independent existence.
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3- dkWye X esa fn, x, ‘kCnksa vkSj okD;ksa dk feyku dkWye Y esa fn, Xx,
fudVre lacaf/lkr vFkZ @ ‘kCnksa @ okD;ksa Is djsaA muesa fn, X,
vuqgns’kksa dk ikyu djrs gq, vius fodYi iz’u i= ds IkFk fn, x, *Avks,evkj**

mUKj i=d esa ntZ djsaA':1x10"-

X Y
3- | FTIE T et A &=
1
3- |UDP %za B. |
2
3- | feET g et # #7 gerd F for sue C. TH—araH
3
3. | T FE AT [ T e A w1 D. AT
4
3. |TE A AiwEaT E. |aeem
5
3- | 32T AT AT HEAH F FEH FA FT STHRT F. |PKzIP
6
3- |JPEG & form Feter 6. | mormwrie
4
3- | FrrH S Seas g % oI gree it araeshar T8l gt H. TST STETITH
8
3- |3 T 2w g A et At g fe B anrs I. AT - AT
9
3- |TcP Jo | e A g Rl e
10 w
K. FTIH
L. FATITAT qeaar & forw ey
FATITCIY
M. | & fRemeae

4- uhps fn, X, izR;sd okD; esa uhps nh xbZ Iwph Is ,d ‘kCn ;k
okD; dks [kkyh LFkku esa yxk,aA Icls mi;qDr fodYi pqusa vkSj
mis fuEufyflkr vugns’kksa ds vuqlkj iz’u i= ds IkFk fn, Xx,
AAvks,evkj** mUKj i=d esa viuk fodYi ntZ djsaA

Ya1x10%%
A | sTiEeE B. | Remuaer C. |16
D. 32 E. T e F. q3eT
G. e H. TR 1. MAC
J. oqTes K. Loy L. Eral
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[ M. | fead oo | | | |

4.1 TCP/IP FT TSI ST Tl I AT AT T TgAT % (o0 a2,

42  TCPTU=® TRagT TerHid g,

43  FOLETH USH U SAATET gl g oY 227 foih o9 9% TART 36T STaT 2.

4.4 CD 7r=féT aiveaw €.

45 AT ST AT T GUe & forr TCP Us ¥ H. siafed vdr g. Yo @< & oIy #3967 39 @€ § of S ST Jret
Tz FT HEAT 2.

4.6 Zavde I e fAgerd &1 F1 F2aT g,

4.7 UDP T TCP gt AT TTETHIA .

4.8 T 7T o v Y stt=r 3 forw o strar 2.

4.9 TCP/IP § U= 9T U3H g dargar &,

410  DLL wsFaers &1 a1 § ISEESIEEELP
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Match words and phrases in column X with the closest related meaning/ word(s)/phrase(s) in
column Y. Enter your selection in the “OMR” answer sheet supplied with the question paper,

following instructions therein. (1x10)
X Y
3.1 Wired Equivalent Privacy A. Bomb
3.2 UDP Packets B. Worm
3.3 Utility to remove scattered free space C. Anti-Virus
3.4 Create your own signature/Logo D. Lossy
3.5 Red Alert Software E. Lossless
3.6 Utility to compress data and archive files F. PKZIP
3.7 Compression for JPEG G. Disk Defragmenter
3.8 Virus which does not require host to propagate H. User datagram
3.9 | Virus set by time or by any logic on event l. Message-oriented
3.10 | TCP J. Provide error-checked delivery
K. Virus
L. Security algorithm for wireless
networks
M. Logo designer
4. Each statement below has a blank space to fit one of the word(s) or phrase(s) in the list below.
Choose the most appropriate option, enter your choice in the “OMR” answer sheet supplied with
the question paper, following instructions therein. (1x10)
A. Dynamic B. | reliable C. 16
D. 32 E. | Scan Disk F. Router
G. Transport H. | Application . MAC
J. last K. | first L. Nero
M. Network Layer
4.1 The of TCP/IP protocol is responsible for figuring out how to get data to its destination.
4.2 TCP is a(n) transport protocol.
4.3 address of a computer in unique and is used at data link layer.
4.4 is CD writing software.
4.5 TCP assigns a sequence number to each segment that is being sent. The sequence number for each
segment is number of the byte carried in that segment.
4.6 does the traffic directing functions on the internet.
4.7 UDP and TCP are both layer protocols.
4.8 is used for checking disk space.
4.9 A port address in TCP/IP is bits long.
4,10 The DLL extension stands for link library.
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Hkkx nks / PART TWO ]
YafdUgha pkj iz’ uksa dk mUKj
nsa'z/(Answer any FOUR questions)

5.

a) e U fas & o e foer 82

b) BIOS Fzary wiskaT T Tdvee afdw forg.

c) = faersr NT Ioie @mar & giora e smar 2.

a) How does a router differ from a bridge?

b) Write standard settings of a BIOS setup
procedure.

c) How to create a new Windows NT user
account?

(5+5+5)

6.

a) fEErsr NT sttmefésr fieed av deafdw #ifewr
T i e o

b) ez a7 82 A= NT deas § f¥ex & 99w &3
#ir fafyr forg.

a) Write a procedure to configure networking on
Windows NT Operating System.

b) What is a printer? Write steps to share a
printer in Windows NT network.

(8+7)

7.

a) uF e grea fir R Fr 82

b) FIET ATATH FAT 82 AT IFh! TgATH Fd Hdl
3T IRT THTH F FH?

c) Teaw FT 52 deas § 2 e 1w Rwiee e
FfET FT sraeThar F#41 g2

a) What is defragmenting a disk drive?

b) What are computer viruses? How do you
detect and eliminate them?

c) What are gateways? Why default gateway
setting is required on systems connected in
network?

(4+5+6)

8.

a) T o ST WG AAY Haed & a1 H fora?

b) ‘netstat’, ‘nslookup’ ¥ ‘ping’ FATSH F FIT FTF
#9

c) Windows XP & &%erq wirar & ffwew &1 &4
feEm w2

a) Write about straight through and cross over
cables?

b) What is the functionality of the commands
‘netstat’, ‘nslookup’ and ‘ping’?

c) How to Restore a System from Backup
Procedure in Windows XP?

(5+5+5)
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» ©

o O T
—_— = =

O 0 T
= — -

e ferfera & & fegt o ot \iferm # =mer 3
FAET ATITEH
TCP Jrerta
TEEATIH HIFeaT
WAN
Explain briefly any three from the following:
Computer viruses
TCP protocol.
Antivirus software
WAN
(3x5)
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